

# Faber Polynomial Coefficient Estimates for a Certain Generalized Subclass of Bi-Univalent Functions Defined by Salagean Operator

Emelike Ukeje<sup>1</sup>

<sup>1</sup>Department of Mathematics, Michael Okpara University Of Agriculture, Umudike, Nigeria

Correspondence should be addressed to Emelike Ukeje: ukeje.emelike@mouau.edu.ng

## Abstract

The study of behaviour of coefficients of some analytic functions in a unit disk is interesting due to its wide application in the study of geometric function. The work will study the coefficient properties of a certain class of generalized Bi-univalent functions. The research work proved that application of Salagean differential operator on a subclass of generalized Bi-univalent function provided sharper inequalities, and contain several sets of Bi-univalent functions.

**Keywords:** Faber Polynomial Coefficient Estimates, Generalized Subclass of Bi-univalent Functions, Salagean Operator.

## Introduction

Let  $A$  be the class of all functions of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n \quad (1.1)$$

which are analytic in the unit disk  $E = \{z : |z| < 1\}$ . Let  $S$  be the class of all functions in the normalized analytic function  $E$  which are univalent in  $E$

Let  $f \in A$ . Salagean [1] introduced and studied the following operator:

$$D^0 f(z) = f(z) \quad (1.2)$$

$$D^1 f(z) = z f'(z) = Df(z) \quad (1.3)$$

$$D^j f(z) = D(D^{j-1} f(z)) \quad (j \in \mathbb{N} := 1, 2, 3, \dots) \quad (1.4)$$

In general if  $f$  is given by (1.1), then

$$D^j f(z) = z + \sum_{n=2}^{\infty} n^j a_n z^n, \quad (j \in \mathbb{N}_0 = \mathbb{N} \cup 0), \quad (1.5)$$

with  $D^j f(z) = 0$ .

It is well known every function  $f \in S$  has an inverse  $f^{-1}$ , which is defined by  $f^{-1}(f(z)) = z, z \in E$  and  $f(f^{-1}(w)) = w (|w| < r_0(f) : r_0(f) \geq \frac{1}{4})$ .

Obviously, the inverse function  $g = f^{-1}$  is given by

$$\begin{aligned} g(w) &= f^{-1}(w) \\ &= w - a_2 w^2 + (2a_2^2 - a_3)w^3 - (5a_2^3 - 5a_2 a_3 + a_4)w^4 + \dots \\ &=: w + \sum_{n=2}^{\infty} A_n w^n \end{aligned} \tag{1.6}$$

We define  $p$  to be the class of functions  $p(z) = 1 + \sum_{n=1}^{\infty} p_n z^n$  that are analytic in  $E$  and satisfy the condition  $\Re(p(z)) > 0$  in  $E$ . By the Caratheodory Lemma see [2].

A function  $f \in \mathcal{A}$  is said to be bi-univalent in  $E$  if both  $f \in S$  and  $g \in f^{-1} \in S$ . Let  $\Sigma$  be the class of bi-univalent functions in  $E$  given by (1.1). The class of bi-univalent functions was introduced and studied by Lewin [3], where it was proved that  $|a_2| < 1.51$ . Brannan and Clunie [4] improved Lewin’s result to  $|a_2| \leq \sqrt{2}$  and later Netanyahu [5] proved that  $|a_2| \leq \frac{4}{3}$ . Brannan and Taha [6] also investigated certain subclasses of bi-univalent functions and found non-sharp estimates on the first two Taylor-Maclaurin coefficient  $|a_2|$  and  $|a_3|$ . For a brief history and interesting examples of functions in the class  $\Sigma$  [7]. The work of Srivastava et al [7] resuscitated the investigation of different subclasses of the bi-univalent function. Other works include Frasin and Aouf [8], Xu et al [9, 10], Hayami and Owa [11], Porwal and Darus [12], Ukeje and Nwachukwu [13] and others.

The main purpose of this work is to use the Faber polynomial expansions for a modified subclass of analytic generalized bi-univalent functions to determine estimates for the general coefficient bounds  $|a_n|$ .

### The Class $N_{\Sigma}(j, \alpha, \lambda, \delta)$

Let us recall the class of generalized bi-univalent function introduced by Bulut [14, 15]

#### Definition 1.

$\lambda \geq 1$  and  $\delta \geq 0$ , a function  $f \in \Sigma$  given by (1.1) is said to be in the class  $N_{\Sigma}(j, \alpha, \lambda, \delta)$  if the following conditions are satisfied:

$$\Re \left( (1 - \lambda) \frac{D^j f(z)}{z} + \lambda (D^j f(z))' + \delta z ((D^j f(z)))'' \right) > \alpha \tag{2.1}$$

and

$$\Re \left( (1 - \lambda) \frac{D^j g(w)}{w} + \lambda (D^j g(w))' + \delta w ((D^j g(w)))'' \right) > \alpha \tag{2.2}$$

Remarks: the following special cases of Definition 1 are as follows:

(i) when  $\delta = 0$ , the class becomes a special case of the class  $\mu_{\Sigma}(j, \alpha, \lambda)$  studied by Bulut [15], that is  $\mu_{\Sigma}(j, \alpha, \lambda) = N_{\Sigma}(j, \alpha, \lambda, 0)$

$$\Re \left( (1 - \lambda) \frac{D^j f(z)}{z} + \lambda (D^j f(z))'' \right) > 0 \tag{2.3}$$

and

$$\Re \left( (1 - \lambda) \frac{D^j g(w)}{w} + \lambda (D^j g(w))'' \right) > 0 \tag{2.4}$$

(ii) when  $j = \delta = 0$ , we obtain the bi-univalent function class

$N_{\Sigma}(0, \alpha, \lambda, 0) = \mu_{\Sigma}(0, \alpha, \lambda)$  which in turn equal to the class introduced by Frasin and Aouf [8]. The class of functions  $f \in \Sigma$  satisfying

$$\Re \left( (1 - \lambda) \frac{f(z)}{z} + \lambda f'(z) \right) > \alpha$$

and

$$\Re \left( (1 - \lambda) \frac{g(w)}{w} + \lambda g'(w) \right) > \alpha$$

where  $0 \leq \alpha < 1; \lambda \geq 1; w \in E$  and  $g = f^{-1}$  is defined by (1.6).

(iii) When  $j = 0 = \delta$  and  $\lambda = 1$ , then we have the bi-univalent function class

$$N_{\Sigma}(0, \alpha, 1, 0) = \mu_{\Sigma}(0, \alpha, 1)$$

Obviously, is the class studied by Bulut [14] and which in turn equivalent to the class introduced by Srivastava et al [7], with  $f \in \Sigma$  satisfying  $\Re (f'(z)) > \alpha$  and

satisfying  $\Re (g'(w)) > \alpha$  where  $0 \leq \alpha < 1; z, w \in E$  and  $g = f^{-1}$  is defined by (1.6).

### Coefficient Estimates

Using the Faber polynomial expansion of functions  $f \in A$  of the form (1.1), the coefficients of its inverse map  $g = f^{-1}$  expressed as [16]:

$$g(w) = f^{-1}(w) = w + \sum_{n=2}^{\infty} \frac{1}{n} K_{n-1}^{-n}(a_2, a_3, \dots) w^n, \tag{3.1}$$

where

$$\begin{aligned} K_{n-1}^{-n} &= \frac{(-n)!}{(-2n+1)!(n-1)!} a_2^{n-1} + \frac{(-n)!}{(2(-n+1))!(n-3)!} a_2^{n-3} a_3 \\ &+ \frac{(-n)!}{(-2n+3)!(n-4)!} a_2^{n-4} a_4 \\ &+ \frac{(-n)!}{(2(-n+2))!(n-5)!} a_2^{n-5} [a_5 + (-n+2)a_3^2] \\ &+ \frac{(-n)!}{(-2n+5)!(n-6)!} a_2^{n-6} [a_6 + (-2n+5)a_3 a_4] + \sum_{k \geq 7} a_2^{n-k} V_k \end{aligned} \tag{3.2}$$

such that  $V_k$  with  $7 \leq k \leq n$  is a homogeneous polynomial in the variables  $a_2, a_3, \dots, a_n$ , [17]. In particular, the first three terms of  $K_{n-1}^{-n}$  are

$$\begin{aligned} K_1^{-2} &= -2a_2 \\ K_2^{-3} &= 3(2a_2^2 - a_3) \\ K_3^{-4} &= -4(5a_2^3 - 5a_2 a_3 + a_4). \end{aligned} \tag{3.3}$$

In general, for any  $p \in \mathbb{N}$ , an expansion of  $K_n^p$  is as, [16].

$$K_n^p = p a_n + \frac{p(p-1)}{2} D_n^2 + \frac{p!}{(p-3)!3!} D_n^3 + \dots + \frac{p!}{(p-n)!n!} D_n^n \tag{3.4}$$

where  $D_n^p = D_n^p(a_2, a_3, \dots)$ , and by [18],

$$D_n^m(a_1, a_2, \dots, a_n) = \sum_{\infty}^{n=1} \frac{m!}{i_1! \dots i_n!} a_1^{i_1} \dots a_n^{i_n}$$

while  $a_1 = 1$ , the sum is taken over all non-negative integers  $i_1, \dots, i_n$  satisfying

$$\begin{aligned} i_1 + i_2 + \dots + i_n &= m \\ i_1 + 2i_2 + \dots + ni_n &= n \end{aligned}$$

It is clear that  $D_n^n(a_1, a_2, \dots, a_n) = a_1^n$ .

**Lemma 1.0**

For  $\lambda \geq 1, \delta \geq 0, j \geq 0$  and  $0 \leq \alpha < 1$ , let  $f \in N_\Sigma(j, \alpha, \lambda, \delta)$  of the form (1.1) then

$$\begin{aligned} & (1 - \lambda) \frac{D^j f(z)}{z} + \lambda (D^j f(z))' + \delta z (D^j f(z))'' \\ &= 1 + \sum_{n=2}^{\infty} a_n n^j (1 + \lambda(n - 1) + n(n - 1)\delta) z^{n-1} \\ &= 1 + \sum_{n=2}^{\infty} F_{n-1}(a_2, a_3, \dots, a_n) z^{n-1} \end{aligned} \tag{3.5}$$

The next theorem will introduce the upper bound for the coefficients  $|a_n|$  of analytic bi-univalent functions in the class  $N_\Sigma(j, \alpha, \lambda, \delta)$ .

**Theorem 1.0**

For  $\lambda \geq 1, \delta \geq 0, j \geq 0$  and  $0 \leq \alpha < 1$ , Let  $f \in N_\Sigma(j, \alpha, \lambda, \delta)$  be given by (1.1) if  $a_k = 0, (2 \leq k \leq n - 1)$ , then

$$|a_n| \leq \frac{2(1 - \alpha)}{[1 + (n - 1)\lambda + n(n - 1)\delta] n^j} \tag{3.6}$$

Proof: For the function  $f \in N_\Sigma(j, \alpha, \lambda, \delta)$  of the form (1.1), we have expansion (2.4) and for the inverse map  $g = f^{-1}$ , considering (1.6) one gets

$$\begin{aligned} & \left( (1 - \lambda) \frac{D^j g(w)}{w} + \lambda (D^j g(w))' + \delta w (D^j g(w))'' \right) \\ &= 1 + \sum_{n=2}^{\infty} A_n n^j (1 + \lambda(n - 1) + n(n - 1)\delta) w^{n-1} \\ &= 1 + \sum_{n=2}^{\infty} F_{n-1}(A_2, A_3, \dots, A_n) w^{n-1} \end{aligned} \tag{3.7}$$

with

$$A_n = \frac{1}{n} K_{n-1}^{-n}(a_2, a_3, \dots, a_n) \tag{3.8}$$

On the other hand, since  $f \in N_\Sigma(j, \alpha, \lambda, \delta)$  and  $g = f^{-1} \in N_\Sigma(j, \alpha, \lambda, \delta)$ , by definition, there exist two positive real-part functions:

$$P(z) = 1 + \sum_{n=1}^{\infty} c_n z^n$$

and

$$q(w) = 1 + \sum_{n=1}^{\infty} d_n w^n$$

where  $\Re(P(z)) > 0$  and  $\Re(q(w)) > 0$  in  $E$  so that

$$\begin{aligned} & (1 - \lambda) \frac{D^j f(z)}{z} + \lambda \left( D^j f(z) \right)' + \delta z \left( D^j f(z) \right)'' \\ & = 1 + (1 - \alpha) \sum_{n=1}^{\infty} K_n^1(c_1, c_2, \dots, c_n) z^n \end{aligned} \tag{3.9}$$

and

$$\begin{aligned} & (1 - \lambda) \frac{D^j g(w)}{w} + \lambda \left( D^j g(w) \right)' + \delta w \left( D^j g(w) \right)'' \\ & = 1 + (1 - \alpha) \sum_{n=1}^{\infty} K_n^1(d_1, d_2, \dots, d_n) w^n \end{aligned} \tag{3.10}$$

Note that, by the Caratheodory Lemma [2],  $|c_n| \leq 2$  and  $|d_n| \leq 2, (n \in \mathbb{N})$ . Comparing, the corresponding coefficients of (3.5) and (3.9) for any  $n \geq 2$ , yields

$$[1 + (n - 1)\lambda + n(n - 1)\delta] a_n n^j = (1 - \alpha) K_{n-1}^1(c_1, c_2, \dots, c_{n-1}) \tag{3.11}$$

and similarly, (3.7) and (3.10) gives

$$[1 + (n - 1)\lambda + n(n - 1)\delta] A_n n^j = (1 - \alpha) K_{n-1}^1(d_1, d_2, \dots, d_{n-1}) \tag{3.12}$$

Since  $a_k = 0, (2 \leq k \leq n - 1)$  and  $A_n = -a_n$ , so (3.11) and (3.12) becomes:

$$[1 + (n - 1)\lambda + n(n - 1)\delta] a_n n^j = (1 - \alpha) C_{n-1} \tag{3.13}$$

$$-[1 + (n - 1)\lambda + n(n - 1)\delta] a_n n^j = (1 - \alpha) d_{n-1} \tag{3.14}$$

Now taking the absolute values of (3.13) and (3.14) yields

$$\begin{aligned} |a_n| & \leq \frac{(1 - \alpha) c_{n-1}}{[1 + (n - 1)\lambda + n(n - 1)\delta] n^j} = \frac{(1 - \alpha) d_{n-1}}{[1 + (n - 1)\lambda + n(n - 1)\delta] n^j} \\ & \leq \frac{2(1 - \alpha)}{[1 + (n - 1)\lambda + n(n - 1)\delta] n^j} \end{aligned} \tag{3.15}$$

which is the required result.

We now consider the following corollaries which are consequences of the above theorem.

**COROLLARY I.**

For  $\lambda \geq 1, 0 \leq \alpha < 1$ , let the function  $f \in N_{\Sigma}(0, \alpha, \lambda, \delta)$  be given by equation (1.1) if  $a_k = 0 (2 \leq k \leq n - 1)$  then

$$|a_n| \leq \frac{2(1 - \alpha)}{[1 + (n - 1)\lambda + n(n - 1)\delta]} \quad (n \geq 4) \tag{3.16}$$

**Remark :** Observe that when  $j = 0$  we obtain the class of bi-univalent function  $N_{\Sigma}(\alpha, \lambda, \delta)$  see [14].

**COROLLARY II.**

For  $\lambda \geq 1, 0 \leq \alpha < 1$ , let the function  $f \in N_{\Sigma}(j, \alpha, \lambda, 0)$  be given by equation (1.1) if  $a_k = 0 (2 \leq k \leq n - 1)$  then

$$|a_n| \leq \frac{2(1 - \alpha)}{[1 + (n - 1)\lambda] n^j} \quad (n \geq 4) \tag{3.17}$$

**Remark:** It is obvious that setting  $\delta = 0$  will yield the results of Jahangiri et al and Bulut, see [14, 20].

**COROLLARY III.**

For  $\lambda \geq 1, 0 \leq \alpha < 1$ , let the function  $f \in N_{\Sigma}(0, \alpha, \lambda, 0)$  be given by equation (1.1) if  $a_k = 0$  ( $2 \leq k \leq n - 1$ ) then

$$|a_n| \leq \frac{2(1 - \alpha)}{1 + (n - 1)\lambda} \quad (n \geq 4) \tag{3.18}$$

**Remark:** Note that when  $j = \delta = 0$ , we obtain the earlier results in [15, 19].

**COROLLARY IV.**

For  $\lambda \geq 1, 0 \leq \alpha < 1$ , let the function  $f \in N_{\Sigma}(j, \alpha, \lambda, \delta)$  be given by equation (1.1) if  $a_k = 0$  ( $2 \leq k \leq n - 1$ ) then

$$|a_n| \leq \frac{2(1 - \alpha)}{[n + n(n - 1)\delta]n^j} \quad (n \geq 4) \tag{3.19}$$

Setting  $\lambda = 1$  in (3.15) will yield the results of Bulut, Sivasubramanian et al [14, 21].

**Theorem 2**

For  $\lambda \geq 1, 0 \leq \alpha < 1$ , let the function  $f \in N_{\Sigma}(j, \alpha, \lambda, \delta)$  be given by equation (1.1) if  $a_k = 0$  ( $2 \leq k \leq n - 1$ ) then

$$|a_2| \leq \min \left\{ \sqrt{\frac{2(1 - \alpha)}{(1 + 2\lambda + 6\delta)3^j}}, \frac{2(1 - \alpha)}{(1 + \lambda + 2\delta)2^j} \right\} \tag{3.20}$$

$$|a_3| \leq \frac{2(1 - \alpha)}{[1 + 2\lambda + 6\delta]3^j} \tag{3.21}$$

$$|a_3 - 2a_2^2| \leq \frac{2(1 - \alpha)}{[1 + 2\lambda + 6\delta]3^j}$$

**Proof:**

when  $n = 2$ , and  $n = 3$  in (3.11) and (3.12) respectively, we get

$$a_2[1 + \lambda + 2\delta]2^j = (1 - \alpha)c_1 \tag{3.22}$$

$$a_3[1 + 2\lambda + 6\delta]3^j = (1 - \alpha)c_2 \tag{3.23}$$

with the inverses

$$-a_2[1 + \lambda + 2\delta]2^j = (1 - \alpha)d_1 \tag{3.24}$$

$$2a_2^2[1 + 2\lambda + 6\delta]3^j - a_3[1 + 2\lambda + 6\delta]3^j = (1 - \alpha)d_2 \tag{3.25}$$

from (3.20) and (3.22) followed by application of Caratheodory lemma will yield

$$|a_2| = \frac{(1 - \alpha)c_1}{[1 + \lambda + 2\delta]2^j} = \frac{2(1 - \alpha)d_1}{[1 + \lambda + 2\delta]2^j} \leq \frac{2(1 - \alpha)}{[1 + \lambda + 2\delta]2^j}. \tag{3.26}$$

Now adding (3.23) and (3.25), one gets

$$\begin{aligned} 2[1 + 2\lambda + 6\delta]3^j a_2^2 &= (1 - \alpha)c_2 + (1 - \alpha)d_2 \\ &= (1 - \alpha)(c_2 + d_2) \end{aligned} \tag{3.27}$$

hence, using Caratheodory lemma we get

$$|a_2| \leq \sqrt{\frac{2(1 - \alpha)}{[1 + 2\lambda + 6\delta]3^j}}$$

This result in addition to inequality in (3.26) gives the required estimate on the coefficient  $|a_2|$  as claimed in (3.20).

To obtain the bound on the coefficient  $|a_3|$ , we subtract (3.25) from (3.23) to get

$$2a_3[1 + 2\lambda + 6\delta]3^j - 2a_2^2[1 + 2\lambda + 6\delta]3^j = (1 - \alpha)c_2 - (1 - \alpha)d_2$$

further simplification will give

$$|a_3| = \frac{(1 - \alpha)(c_2 - d_2)}{[1 + 2\lambda + 6\delta]3^j} + a_2^2 \tag{3.28}$$

Substituting the value of  $a_2^2$  from (3.22) gives

$$a_3 = \frac{(1 - \alpha)^2 c_1^2}{[1 + \lambda + 2\delta]^2 \cdot 2^{2j}} + \frac{(1 - \alpha)(c_2 - d_2)}{[1 + 2\lambda + 6\delta]3^j}$$

applying Caratheodory Lemma we have

$$|a_3| \leq \frac{4(1 - \alpha)^2}{[1 + \lambda + 2\delta]^2 \cdot 2^{2j}} + \frac{2(1 - \alpha)}{[1 + 2\lambda + 6\delta]3^j}. \tag{3.29}$$

Now, substituting the value of  $a_2^2$  from (3.27) into (3.28) will yield

$$= \frac{(1 - \alpha)(c_2 - d_2)}{2[1 + 2\lambda + 6\delta]3^j} + \frac{(1 - \alpha)(c_2 + d_2)}{2[1 + 2\lambda + 6\delta]3^j}$$

which reduces to

$$a_3 = \frac{(1 - \alpha)c_2}{2[1 + 2\lambda + 6\delta]3^j}$$

on application of Caratheodory Lemma gives

$$|a_3| \leq \frac{2(1 - \alpha)}{[1 + 2\lambda + 6\delta]3^j}$$

which gives the required result.

Consequently, from (3.25) one can claim with the help of Caratheodory Lemma that

$$|a_3 - 2a_2^2| = \frac{(1 - \alpha)|-d_2|}{[1 + 2\lambda + 6\delta]3^j} \leq \frac{2(1 - \alpha)}{[1 + 2\lambda + 6\delta]3^j}$$

which ends the proof. We now consider the following corollary as consequence of setting  $j = 0$  in theorem 2. Clearly, the result is an improvement on the result of S. Bulut.

**COROLLARY V.** [14] For  $\lambda \geq 1, 0 \leq \alpha < 1$ , let the function  $f \in B_{\Sigma}(\alpha, \lambda)$  then

$$|a_2| \leq \begin{cases} \sqrt{\frac{2(1 - \alpha)}{1 + 2\lambda + 6\delta}} & 0 \leq \alpha < 1 - \frac{(1 + \lambda + 2\delta)^2}{2(1 + 2\lambda + 6\delta)} \\ \frac{2(1 - \alpha)}{1 + \lambda + 2\delta} & 1 - \frac{(1 + \lambda + 2\delta)^2}{2(1 + 2\lambda + 6\delta)} \leq \alpha < 1 \end{cases}$$

$$|a_3| \leq \frac{2(1 - \alpha)}{1 + 2\lambda + 6\delta}, \quad |a_3 - 2a_2^2| \leq \frac{2(1 - \alpha)}{1 + 2\lambda + 6\delta}$$

In same manner,if we set  $j = 0, \delta = 0, \lambda = 1$  In Theorem 2 we obtain the following corollary.  
 COROLLARY VI [15] For  $0 \leq \alpha < 1$ ,let the function  $f \in \mu_{\Sigma}(\alpha)$  be given by (1.1).Then one has the following

$$|a_2| \leq \begin{cases} \sqrt{\frac{2(1-\alpha)}{3}}, & 0 \leq \alpha < \frac{1}{3} \\ 1 - \alpha, & \frac{1}{3} \leq \alpha < 1 \end{cases}$$

and

$$|a_3| \leq \frac{2(1-\alpha)}{3}$$

**Remark.** The estimates obtained for  $|a_2|$  and  $|a_3|$  clearly proved that corollary vi is an improvement of the estimates given by Srivastava et al,Bulut [7, 15].

## Conclusion

Further variations of the parameters continues to yield results encountered in literatures previously which simply suggest that the differential operator used in this research generated several functions of same class.

## References

- [1] G.S. Salagean, Subclasses of univalent functions, Complex Analysis, Fifth Romanian-Finnish seminar, part 1 (Bucharest, 1981), Lecture Notes in Math, vol. 1013, Springer, Berlin, 1983, pp. 362-372.
- [2] P.L. Duren, Univalent functions, vol. 259 of Grundlehren der Mathematischen, Springer, New York, NY, USA, 1983.
- [3] M. Lewin, On a coefficient problem for bi-univalent functions, Proc. Amer. Math. Soc. 18 (1967), 63-68.
- [4] D.A. Brannan, G.J. Clunie(eds), Aspects of contemporary complex analysis, Proceedings of the NATO Advanced Study Institute held at the University of Durhan, Durhan: July 1-20, 1979, Academic Press, New York, 1980.
- [5] E. Netanyahu, The minimal distance of the image boundary from the origin and the second coefficient of a univalent function in  $|z| < 1$ , Arch. Rational Mech. Anal. 32 (1969), 100-112.
- [6] D.A. Brannan and T.S. Taha, On Some classes of bi-univalent functions in Mathematical Analysis and Its Applications (S.M. Mazhar, A. Hamoui and N.S. Faour, Editors) (Kuwait: February 18-21, 1985), KFAS Proceedings Series, Vol. 3, Pergamon Press (Elsevier Science Limited), Oxford, 1988, pp. 53-60.
- [7] H.M. Srivastava, A.K. Mishra and Gochhyat, Certain subclasses of analytic and bi-univalent functions, Appl. Math. Lett. 23 (2010), 1188-1192.
- [8] B.A. Frasin and M.K. Aouf, New subclasses of bi-univalent functions, Appl. Math. Lett. 24 (2011), 1569-1573.
- [9] Q.H. Xu, Y.C Gui and H.M. Srivastava, Coefficient estimates for a certain subclass of analytic and bi-univalent functions, Appl. Math. Lett. 25 (2012), 900-994.
- [10] Q.H. Xu, H.G. Xiao and H.M. Srivastava, A certain general subclass of analytic and bi-univalent functions and associated estimate problems, Appl. Math. Comput. 218 (2012), 11461-11465.
- [11] T. Hayami and S.G.S. Owa, Coefficient bounds for bi-univalent functions, Pan Amer. Math. J. 22 (4) (2012), 15-26.



- [12] S. Porwal and M. Darus, On a new subclass of bi-univalent functions, *J. Egyptian Math. Soc.* 21 (3) (2013), 190-193.
- [13] E. Ukeje and K. Nwachukwu, Coefficient Estimates For A Subclass of Analytic Bi-univalent Functions Defined by Ruscheweyh derivatives, *Trans. Nigerian Assoc. Math. Phys.* 8 (2019), 189-194.
- [14] S. Bulut, Faber Polynomial coefficient estimates for a subclass of analytic bi-univalent functions, *Filomat* 30 (2016), 1567-1575.
- [15] Serap Bulut, Faber Polynomial Coefficient Estimates For A Subclass of Analytic Bi-univalent Functions Defined By Salagean Differential Operator, *Matemat Bechň*, 67 (2015), 185-193.
- [16] H. Airault and A. Bouali, Differential calculus on the Faber polynomials, *Bull. Sci. Math.* 130 (2006), 179-222.
- [17] H. Airault and J. Ren, An algebra of differential operators and generating functions on the set of univalent functions, *Bull. Sci. Math.* 126 (5) (2002), 343-367.
- [18] P.G. Todorov, On the Faber polynomials of the univalent functions of class  $\Sigma$ , *J. Math. Anal. Appl.* 162 (1991), 268-276.
- [19] J. M. Jahangiri and S. G. Hamidi, Coefficient estimates for certain classes of bi-univalent functions, *Int. J. Math. Math. Sci.* 2013 (2013), 190560.
- [20] J.M. Jahangiri, S.G. Hamidi and S.A. Halim, Coefficients of bi-univalent functions with positive real part derivatives, *Bull. Malaysian Math. Soc. (2)* 37 (2014), 633-640.
- [21] S. Sivasubramanian, T. N. Shanmugam and R. Sivakumar, Coefficient bound for certain subclasses of analytic and bi-univalent functions, *Far East J. Math. Sci.* 79 (1) (2013), 123-134.